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��� 	��� 

����� �  ����

 

���!-�� 	
 ��#�$ ������$ %��&� '�&��
 ���� (�) *&�� +���# �,,�., *�/����0, 1� 
���
�1�2  ����
 

3�� ���&45�+ !�,�6� *�/�����0 �7�8���#। 3 &1 �: ��� ��; ����� '�&��
 +���# �<,�== *�/����0 (!� 3�?� 

����)। ����-�! 	
 ��#�$ ,,,�6� �����
 ��������0 AB� 
�0 ����� '�&���� +� 3�� ���!-�� 	
 ��#�$ 
�0 

����� '�&���
$ &�$��C �7�8���# .6,..< �����
 ��������0 AB�। 3$ ��� !<.,� ����� �$���$ E���, 

!�.<� ����� *��$���$ E���, ��.�! ����� *1F
 '�G��/ '�&���� +���# 3�� �=.�� ����� ����� H����
 

�$� +���#। ������$ �I��
 � ���$C ���J� �� ����-�� 	
 ��#�$$ ��.=! ����� *
�� K�� *&�� ���!-�� 

	
 ��#�$ �7�8���# ��.�< ������। ������
 ����� ���$C ��L
 <.�! �� �������0�$ 3�� M�+� ��N� �=.� 

�����
। ��G��
 &�$�O
� 	P1���, ��!� ����$ ��� ����� '�&��
 ���� ��,��� *�/����0 3�� ���� ����$ 

��� <�,��� *�/�����0 *&FQ#���। 	&$����, ?�R��� 2�� *���$ *��0 ���C�S��  ����
 T�+��$$ ?�� 6� 

����� U$C �$�#। ������
 *��0 H��V� �.4 2�� *��W ���!-�� 	
 ��#$ &1 �: X�Y�Z� 2�� '�&���
$ 

&�$��C ?�� ��.�, �[���
 A
\0 3�� '�]��
�1�2 
�0 �^��$ &�$��C ,.<< �[���
 A
\0। ������
 *���$ 

 ����
 *���$ �^� ���� ?�� �6.=� �� *��[� 0
। ?�R��� 2�� �  ����
 *���+ 	_�_ E�
S �`��$ 

X��a ���
 b��+�� U$�C$ ���� 3�� *���$ ��A �������  ����
 �
$�&]� �
�c���O  ����
 '���$ �deE��$�C$ 

(Fuel Diversification) S_ 2�� � �$�  ����
�5�]� ����� *�f %�&�
$ &���&��� ����, 3�3
�S, g���-

\���, &�$��C��� 3�� 
���
�1�2  ����
�5�]� ����� '�&��
 *�f �
� ��C �$� +�h। ��#�8�, HI��� � '&-

HI��� �+�1��/��$ ����� ����� H����
 �$� +�h। 

����� E�� 

������
 ������$ %��&� ���� (�) *&�� ���&45 � 


���
�1�2  ����
�+ !�,�6� *�/�����0 'i�� +���#। 

b��+��$ ��&$��� 3 &1 �: ��� ��; �<,�== *�/����0 (!� 

3�?� ����) ����� '�&���� +���#। ���!-�� 	
 ��#�$ 


���
�1�2 S����
 � ���&45�+ ��
��&j ����� 

'�&���
$ &�$��C +���# <�� ��������0 AB�। ���� 

����$ ̂ 
 ��� &1 �: *��0 [�k���
 ��L�
$ l�A �� (�) *&�� 

�6,<�� �����0 �������0�$ +���#। ����� ���$C ��L
 

<.�! �� �������0��$ 3�� M�+� ��N� �=.� ������
 

'i�� +���#।  

 

 

 

 

�. ����� '�&��
 T�%� 

����� '�&��
 ���� 

����-�! 	
 ��#�$ *��� �$���$ E��� ��,�=. *�/����0, 

*1F
 '�G��/ �,,<� *�/����0, *��$���$ E��� .,.�6 

*�/����0 � H����
 �,<6< *�/����0�+ *��0 %��&� 

'�&��
 (�Mm�5�]�) ���� �#� ��,.�� *�/����0। 

���!-�� 	
 ��#�$ 3 ���� (�) *&�� �$���$ E��� 

��,��< *�/����0, *1F
 '�G��/ �,�=, *�/����0, 

*��$���$ E��� ��,=�, *�/����0 3�� �,<6< *�/����0 

����� H����
�+ *��0 %��&� '�&��
 ���� 

(�Mm�5�]�) �,,�., *�/�����0 �7�8���#। ���&45 � 


���
�1�2  ����
�+ 1�$ *��0 &�$��C ?�� !�,�6� 

*�/����0। 3 &1 �: ��� ��; �<,�== *�/����0 (!� 3�?� 

����) ����� '�&���� +���#। ���!-�� 	
 ��#�$ E�� 

	P1��� �  ����
 �5�]� %��&� ����� '�&��
 ���� 

�
�n *�E�bW ��.� � ��.� 3 *�E��
� +���:
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*�E�bW ��.�: %��&� ����� '�&��
 ���� (E�� 	P1���)                  *�E�bW ��.�: %��&� ����� '�&��
 ���� ( ����
 	P1���)  

  

  '��: ����� ��5�/, �����,  ����
 � E�
S �`� �oC���।  
 

����� '�&��
 (�����
 ��������0 AB�) 


�0 ����� '�&��
 ����-�! 	
 ��#�$ ,,,�6� �����
 

��������0 Ap� *
�� (�) *&�� ���!-�� 	
 ��#�$ 

.6,..< �����
 ��������0 Ap�� *&FQ�#�#। ���!-�� 

	
 ��#�$  
�0 ����� '�&���
$ !<.,� ����� �$���$ 

E���, !�.<� ����� *��$���$ E���, ��.�! ����� *1F
 

'�G��/ '�&���� +���# 3�� �=.�� ����� ����� 

H����
 �$� +���#।  ����
$ '&$ �5�] ��$ 
�0 

'�&���
$ �,.6� ����� 2���5�]�, �.,< ����� 

S������, �...� ����� �����5�]�, ��.�. ����� �$� 

 ����
 �5�]�, �=.�� ����� H����
R� ����� � �.., 

����� 
���
�1�2  ����
 *
�� '�&���� +���#। ���!-

�� 	
 ��#�$ �$���$-���$���$ E��� �  ����
$ �5�]�� 


�0 ����� '�&��
 *�E�bW ��.! � ��.� 3 '&%�&
 �$� 

+���: 

 

*�E�bW ��.!: ����� '�&��
 (E�� 	P1���) 

 

*�E�bW ��.�: ����� '�&��
 ( ����
 	P1���) 

 
'��: ����� ��5�/,�����,  ����
 � E�
S �`� �oC���। (* S�P���$ ���� &1 �:।) 

��� ��; ����� '�&��
  

���=-�, 	
 ��#�$ ��� ��; ����� '�&��
 ��,.6, 

*�/����0 *
�� ���!-�� 	
 ��#�$ ��� ��; ����� '�&��
 

�<,�== *�/�����0 (!� 3�?� ����) 'i�� +���#। ���=-

�, 	
 ��#$ +�� ���!-�� 	
 ��#$ &1 �: ����� *��f$ 

%��&� '�&��
 ���� � ��� ��; '�&��
 ��$�C ��.� 3 

*�E��
� +���: 

�$���$ 
��.��%

*��$���$ 
��.=�%

����� 
H����
 
..�6%

*1F
 '�G�/ 
,.,�%

2�� 
��.�,%


���
�1�2 
 ����
 
�.��%

����� 
H����
 
..�6%

���� 
�,.�,%

�m�S� 
�.�!%

s��
 �� 	��� 
��..!%

S������ 
�.,�%

�$���$ 
!<.,�%

����� 
H����
 
�=.��%

*1F
 '�G�/ 
��.�!%

*��$���$ 
!�.<�%

2�� �,.6�%


���
�1�2 
 ����
 
�..,%

����� 
H����
 
�=.��%

���� 
�...�%

�$�  ����
 
��.�.%

S������ 
�.,<%
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��$�C �� .�: %��&� '�&��
 ���� 3�� ��� ��; '�&��
 

	
 ��#$ 
%��&� '�&��
 

���� (��/����0)* 

��� ��; '�&��
 
(��/����0) 

   ���=-�, �6.6! ��.6, 
   ���,-�. �,.<� ��,.! 

���.-�� ��!,! ��=!, 
����-�� ���!� �!=.� 
����-�� ���,� ��=,� 
����-�! ��.�� �6<�, 

  ���!-�� �,�., �<�== 
  '��: ����� ��5�/। *�Mm��Sm (H����
R� ������+) 

����� '�&���
  ����
$ T�+�$ 

���6-�< 	
 ��#�$ �$���$ E���$ ����� *��f ����� 

'�&���
 *��0 ��=.,� �����
 A
\0 ?�R��� 2�� 

T�+�$ �$� +���#, 1� ����-�! 	
 ��#�$ ��=..� �����
 

A
\0 3 3�� ���!-�� 	
 ��#�$ ���.=6 �����
 A
\0 

3 �7�8���#। ���6-�< 	
 ��#�$  ����
 �+���� ?
� 

���� T�+�$ �$� +�। ���!-�� 	
 ��#�$ ����� '�&���
 

 ����
 �+���� ����$ T�+�$ �78�� =.�6 �����
 0
। 

���6-�< 	
 ��#$ *
�� ���!-�� 	
 ��#$ &1 �: T�t� 

?�R��� 2��, ���� � �$�  ����
$ T�+�$ ��$�C ��.� 

3 *��� +���: 

��$�C ��.�: �$���$ E���$ ����� *��f  ?�R��� 2�� 

�  ����
$ T�+�$ 

 

	
 ��#$ ?�R��� 
2�� 

(�����
 
A
\0) 

���� 
(�����
 

0
) 

�$�  ����
 
(�����
 ��0�$) 

s��
 �� 
	��� 

3Lb3��m, 
3���� 

3�� 
3��m� 

���6-�< ��, �.�. �6� �!� 
���<-�= ��< �.6. 6�! !�, 
���=-�, ��� �.,� <�6 =.6 
���,-�. �=� �.6= �,� !=! 

   ���.-�� �<, �.�� !�� �� 
   ����-�� ��! �.�6 !,. =� 
   ����-�� ��� �.6� 6�! �6� 
   ����-�! ��, �.6� =�� �=6 
   ���!-�� ��6 =.�6 6�= << 

'��: ����� ��5�/  

����� '�&��
 �� �u�b � 5��v� &�$�O
� 

��G��
 &�$�O
� 	P1���, ��!� ����$ ��� ����� 

'�&��
 ���� ��,��� *�/����0 3�� ���� ����$ ��� 

<�,��� *�/�����0 *&FQ#���। 3 ��� 	S��
$ S_ 3�4 

‘Strategic Fuel Diversification Plan’ ?w� �$� 

+���#। 3L &�$�O
�$ H���� ����, &�$��C��� ��x, 


���
�1�2  ����
 3�� ?������ *��y��� *
�� 

H����
R� ����� 	:z �x �$� +���#। 3�� &�$�O
� 

���5i a��& ��{���
�a�
 H�#।  

�
� ��C�a�
 ����� '�&��
 ?�O 

�$���$ � *��$���$ &1 ���� 	�
�y��� ����� *�f 

�
� ��C�a�
 H�#। ������
 �$���$ E��� *��0 �,,<= 

*�/����0 ����$ =4, *1F
 '�G��/ �,�.� *�/����0 

����$ �4, *��$���$ E��� *��0 �,!,� *�/����0 

����$ �64�+ �� ����0 =,=!, *�/����0 ����$ ��4 

����� *�f �
� ��C�a�
 $���#। 

E. ����� �I��
 T�%� 

&����$ M�m �������� �&3��� (&����$ M�m) 

��M *���$ ����� �I��
 T�%�$ &�$b��
�, $�C����C 

� 'i�
 ��1 �X�� &����$ M�m �������� �&3��� 

�
����S� H�#। �I��
 	���|����$ a�$����+� 'i��
$ 

s�� ^
 ���� &1 �: S���� �M�m �,�.= �����0 ��}��} 

��� *��5 �I��
 ��L
, �,�<! �����0 ��}��} �!� *��5 

�I��
 ��L
 � ,,,<� �����0 ��}��} �!� *��5 �I��
 

��L
 $���#। ���!-�� 	
 ��#�$$ ^
 ���� &1 �: �I��
 

	���|������ ���5i *5��~S *��5�� *��0 .�= �����0 

��}��} �I��
 ��L
 3�� =4 �Mm '&��f (6,!�� 

3��53) ���x +���#। ������
 *��� *��0 �I��
 

��L�
$ &�$��C �6,<�� �����0 �������0�$, 1� �� ����0 

<<,,<. 3��53 ����$ ���4 �Mm '&��f 3�� �,��� 

*�/����0 ����$ �4 HVDC *J�
�� S���� �M�m 

���x ��$�#। ��$�C ��.! 3 �#$�5�]� &����$ M�m 

�������� �&3��� ���� ����� �I��
 T�%�$ 	���|���� 

'i�
 *�E��
� +���: 
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��$�C ��.!: �#$�5�]� &����$ M�m �������� �&3��� ���� ����� �I��
 T�%�$ 	���|���� 'i�
 

  	
 ��#$ �I��
 ��L
 (�����0 ��}��}) ��� *��5 

HVDC *J�
 

���/�!� *��5 

3�� ���/�!� 

*��5 '&��f 

�!�/�!� *��5 3�� 

�!�/!! *��5 

'&��f 

�!�/!! *��5 

'&��f 

��� 

*��5 

�!� 

*��5 

�!� 

*��5 

��N� ���� 

(��/����0) 

��N� ���� 

(3��53) 

��N� ���� 

(3��53) 

��N� ���� 

(3��53) 

���6-�< ��� !�=� <!.= �� 6�� �� 6�� �. .!=6 .� ����� 

���<-�= 6<� !�=� <6�� �� 6�� �� �<.� �. .<=6 .� �!!<6 

���=-�, 6<� !!�6 <=.< �� 6�� �! ���� �. .<=6 .� �6��< 

���,-�. <., !!=� =!�. ��  ���� �6 !.�� �< �!�!6 �!� ��<�� 

���.-��    ,<�    !6�� ==6, �� ���� �< 6�=� �= �!!,6 ��6 �6,,6 

����-�� .6� !<6, ,��, �� ���� �< 6�=� !� �<��6 �6! �.�,. 

����-�� ��.� ���, ,!== �� ���� �. =,�� !� �=�<6 �<6 !�=�= 

����-�! �.=� ��!< ,6�. �� ���� �� ��..� !6 �==<6 �<, !�==� 

���!-�� ��.= ��<! ,,<� �� ���� �� �!=<� !< �.�<6 �=! !���� 
'��: ����� ��5�/।  

/. ����� ���$C T�%� 

������
 ����� ���$C E��� <4 ���$C ��%�/���`��
 
����� &��
 �$�#। 1
�: 

(�) �������� ����� 'i�
 *��m � (����'���) 

(�) �������� &�� �������
 *��m � (��&�����) 

(!) ���� &����$ �m����'�
 *��`��
 ��. (�m�&�m��) 

(�) ���� L����[� ����L *��`��
 ��. (�m����) 

(6) ���J�S�
 &����$ �m����'�
 *��`��
 ��. 

(��S�&��m���) 

(<) 
� ��
 L����[��4 ����L *��`��
 ��. (�
����) 

H:}��%� ����� H����
 

����� E��� ����-�! � ���!-�� 	
 ��#�$ 1
�X�� 

,6,,,= �����
 ��������0 AB� � .!,��6 �����
 

��������0 AB� ����� ���$C ��%�/���`��
��+ ���� 

H����
 �$� +���#, 1� *�E�bW ��.6 � ��.< 3 *�E��
� 

+���: 

*�E�bW ��.6: ����� H����
 � ��%��5�]� ���$C  
(����-�! 	
 ��#$) 

 

*�E�bW ��.<: ����� H����
 � ��%��5�]� ���$C  
(���!-�� 	
 ��#$) 

 

 '��: ����� ��5�/। 

  

��'��� 
��.,�% *
���� 

6.6�%

��S�&��m��� 
�.=�%

*m���� 
,.��%

�m�&�m�� 
��.=�%

&����� 
6<.!�%

��'��� 
��.==% *
���� 

6.!<%

��S�&��m��� 
�.6.%

*m���� 
=.,6%

�m�&�m�� 
��.�6%

&����� 
66.!�%
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���J� �� 

���J� �� ����� ��%����+$ ���� �����
$ 3�4 

?a�
 ub�। ����� E��� ����$ �� �u�b ��{����
$ ����� 

����� 	&b� �� 3�� ���J� �� ����
�$ ?�b�� 	T�+� 

$���#। ����� ���$C *��`��
/��%����+$ ���� 

���$��$ ����� X��/�5��� ������$ ���J� �� K�� 

�$� ��� +�h। ���=-�, 	
 ��#$ *
�� ���!-�� 	
 ��#$ 

&1 �: ������$ ���J� ���$ &�$��N�
 ��$�C ��.� 3�� 

*�E�bW ��.= 3 *�E��
� +���: 

��$�C ��.�: ������$ ���J� ���$ &�$��N�
 

	
 � �#$ ���$C �� (%) ���$C � �I��
 �� 

 (���0 ��) (%) 

���=-�, ..<� ��.,= 

���,-�. ..!6 ��..< 

���.-�� ,.=! ��.�! 
����-�� ,.�, ��.�� 
����-�� =.=� ��.�< 
����-�! =.<6 ��.!! 
���!-�� =.�6 ��.�< 

 '��: ����� ��5�/।  

*�E�bW ��.=: ������$ ���J� ���$ &�$��N�
 

 
 '��: ����� ��5�/।  
 

����� ����$ ����� 

�$���$, Ha�-�$���$ � *��$���$ ����� H����$ ���� 

�$��$ ���$�� *S�$��$ ��$ ��| &1 ���� ���5i ��1 �X� 

��{���
 �$�� ��/� ���� �#�$ ������$ ����� ��� 

M+C�1�2 &1 ���� K�� �$� ��� +���#। ���=-�, 	
 ��#$ 

+�� ���!-�� 	
 ��#$ &1 �: �����$ &�$��N�
 ��$�C 

��.6 3 *�E��
� +���: 

 

 

 

��$�C ��.6: ����� ����� ��� 
 

	
 � �#$ ����� (�����) 
���=-�, �.=� 
���,-�. �.6, 
���.-�� �.,= 

����-�� �.�< 
����-�� �.!< 
����-�! �.6� 
���!-�� �.�� 

    '��: ����� ��5�/।  
 

 

..< ..!6
,.=! ,.�,

=.=� =.<6 =.�6

��.,= ��..<
��.�! ��.��

��.�< ��.!! ��.�<

�.

�.

�.

<.

,.

��.

��.

��.

���=-�, ���,-�. ���.-�� ����-�� ����-�� ����-�! ���!-��

���$C �� (%) ���$C � �I��
 �� (%)
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�?-�&Lm ��0 � ��0�$ %�&
 ��1 �X� 

����� ��� &�$���a�� ������ex �$��+ ����� ��� 

H��� ��5�/ �
�c��$�C$ ���� ����� ��5�/ *��T�&� 

��0 �/�?-�&Lm ��0��$� &)�� b��$ '�G�/ M+C ��$�#। 

L������ #�4 ����� ���$C��$� ��%�/���`��
 ���� 

*��� =�,�6,<��4 ��0 �/�?-�&Lm ��0�$ %�&
 �$� +���#। 

^
, ���� &1 �: ���&�m�� ���� �6,��,�!,4, ��&����� 

���� �=,<�,6<,4, �m�&�m�� ���� ��,<,,��<4, 

*m���� ���� ,,�<,=�64, ��S�&��m��� ���� 

6,��,���4 � *
���� ���� 6,6,,�=�4 �?-�&Lm ��0�$ 

%�&
 �$� +���#। ^
, ���� &1 �: ��%�/���`��
 �5�]� 

%��&� �?-�&Lm ��0��$$ �bW ��$�C ��.< 3 *�E��
� +���। 

��$�C ��.<: �?-�&Lm ��0�$ %�&�
$ 	M/�� 

X��� 

� 

��%� 
����� 
*sLS 

�� *sLS  *��0 

� ��'��� ��6���� <���= �6���!, 

� &����� �=�<.6� �!<�, �=<�6<, 

! �m�&�m�� ..!�<� =6�,� ��<,��< 

� *m���� =�.�!! ,=6=� ,�<=�6 

6 ��S�&��m��� �.!�6< �<.66 6����� 

< *
���� 6�6<=� !�,�� 66,�=� 

�� ����0:  <.�.�., �,<!�� =��6<�� 

 '��: ����� ��5�/।  

A.�������� &�� �������
 *��m � (��H$L��) 

^
 ���� &1 �:, �������� &�� �������
 *��m � (��&�����) 

&�� ����� �����$ ����� 6.!, �� �������0�$ ����� 

���$C ��L
 �
� ��C ��$ !.<� *��4 M���C S
�/����� 

����� *���$  H���� 3�
�#। 3#�8�, *���$ �/ �� b$ � 

�_�?�C �.4 M���$ 6,=�=4 ������8�� *����$ *+�� 

���J� %�&
 ��$�#। ���=-�, 	
 ��#$ *
�� ���!-�� 

	
 ��#$ &1 �: &�� �������
 ��1 �X�� �I��
 � M�+� 

���1��/$ �����W� � ��s� ��$�C ��.= 3 *�E��
� +���: 
 

��$�C ��.=: M�+� ���1��/$ *5F� �����W� � 	M/�� 

 

	
 ��#$ 

���$C ��L
 

(��}��}) 
M�+� ���1��/$ ��N� 

�����W� 	M/�� �����W� 	M/�� 

���=-�,   !���� 6�,,< !������ !,6���! 

  ���,-�.   �6��� =�!�< ������� !��66.! 

  ���.-�� 6���� 6��<< �������  ���6!�� 

 

	
 ��#$ 

���$C ��L
 

(��}��}) 
M�+� ���1��/$ ��N� 

�����W� 	M/�� �����W� 	M/�� 

  ����-�� !��� !�=!<  �!����� ��<��!� 

  ����-�� ����� =�.� ,����� ��<��!� 

  ����-�! ,��� .6<6 ,����� ,�!.�6 

 ���!-�� ����� ����� .�..=� ���<=!� 
 

 '��: �������� &�� �������
 *��m �।  

�.����0L�
�� 3
��S� �� 
���
�1�2  ����
 

�����5��� 
���
�1�2  ����
 ��1 �X��$ &�$�O
� 

?C�
, ��{���
, ����$C � 3 ��X�: ��1 �X� 

���$���$�C$ S_ ���� ���� *0��L � 
���
�1�2 

 ����
 'i�
 ���&� HL
, ���� 3$ H���� 

Sustainable & Renewable Energy Development 

Authority (SREDA) /|
 �$� +���#। 
���
�1�2 

 ����
 
������-���, ?C�
 �$� +���#। 
���
�1�2 

 ����
 
������� +��
�/���$ ��S b���
 $���#। 


���
�1�2  ����
 
�������� 
���
�1�2  ����
 +�� 

����� '�&���
 *��$���$ ���
���/�� '����+��$�C$ 

S_ ���5i H�
 �� ?�C��
� � ��1�/-���a� *A��C� �$� 

+���#। 
���
�1�2  ����
 '�� *
�� ����� '�&���
$ 

�����W� 	S�
 3�� 
���
�1�2  ����
 ?�O ��{����
 

*1 *���
� a$�
$ �+���� ?��
 �$�$ S_ *�m� �����?��। 


���
�1�2  ����
 ��X�: ���5i ��1 �X� M+�C$ s�� 3E
 

&1 �: 
���
�1�2  ����
�5�]� ����� '�&��
 ���� ?�� 

�,!=6.�� *�/�����0 'i�� +���#। ��$�C ��., 3 


���
�1�2  ����
�5�]� '�&��
 ���� *�E��
� +���: 

��$�C ��.,: 
���
�1�2  ����
�5�]�  '�&��
 ���� 
                                                                              (��. �.) 

X.
�. ?��x 	s-�Mm 	
-�Mm *��0 
� *����$ !=!.,6 =�=.�, ��,�.�� 

� 'L� �.�� <�.. <�.. 

! +�L��� � �!� �!� 
� �����2�� �.<. � �.<. 
6 �������� �.� � �.� 

*��0 !=<..� ..,.�, �!=6.�� 
'��: ����� ��5�/। 
 

*��� �s0& *����$ ���J� S
�?��$�C$ S_ �$��$ 

*
0 ��0��$� /�Lm ��L
-���, ?C�
 ��$�#। 3 /�Lm 

��L�
$ ����� ����-���8$ �����/C ���8$ #���$ '��] 

%��
 *�F$ ����� '�&��
 ��$ �
�S T�+�$ �$�� &�$�#
 

3�� ����� ���J�� �$�$�+ �$�� &�$�#
। *
0 ��0��$$ 
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����� 3E
 &1 �: �,�6.4 �s0& *����$ ���J� %�&
 

�$� +���# 1�$ ���� ���.�!= *�/����0। L������ 

!,��!4 *�F$ �5�]� *�b &�` %�&
 �$� +���#, 1�$ 

*��0 ���&���4 6=.<�. *�.�.। ������
 *��� ��4 *����$ 

&��� %�&
 �$� +���# 1�$ *��0 ���� 6!= *�/����0। 
 

b. �&Y$ &�$��C��� ����� *�f 
 

&$��  ��x$ ���:UC � T�+��$$ ����� ���� �� H
 �-

�����S� 'i��
 	����
$ ���� &��
�$ �&Y�$ ?��4 

�,��� *�/����0 ��$ �L L'�
�0$ *��0 �,��� *�/����0 

�����`i “�&Y$ &�$��C��� �������f �
� ��C ?�O” 

+��� *
�� +�। ?�O4 ��{����� +�� ��� �
ex 

&�$������� � �
$��hi ����� '�&���
$ ����� *���$ 

H&��$ S
/�C$ X��a ���
 ����� b��+�� *�0��
� ��� 

+��। ���! ����$ � 	�£��$ �&Y$ &�$��C��� ����� 

*�f �
� ��C ?��O$ �� &1 ����$ ���S$ ¤5 '���a�
$ 

����� 3L ?��O$ ��S ¤� +�। �����
 ��� &1 �: ?��O$ 

�`���� '��E�1�2 �1 �X�y��� +���: 

 ���= ����$ !� 
�5¥$ L'�
0-� 3�� ���, ����$ � 

^��L L'�
0-� 3$ First concrete pouring (FCD) 

3$ ¤5 '���a
 +�; 

 �, H/J ���, 3�� ! *� ���. 3  �&Y$ 3
�&�& 

3$ 1
�X�� L'�
0-� 3�� L'�
0-� 3$ *��$ ���b�$ 

%�&
 �$� +�; 

 ��������f  ����
 �$�$��+$ ���� $���
 

*sm��$��
$ 4�53� S��p J� *��`��
$ ���
 < 

H/J ���. ���� §�x ¨��$ +�;  

 /C?S��o� �������� �$��$ ���� �� 
�5¥$ ���� 

���� “S���� &�$��C��� � *�S�©��� ����� S��$ 

	�%�� ��8���
 &�$�O
� (NNREPRP)” 	P����
 

�$� +�;  

 �� 	�£��$ ���� ���� L'�
0-� 3�� �. 	�£��$ 

���� ���� L'�
0-� 3$ Reactor Pressure Vessel 

%�&�
$ '���a
 �$� +�;  

 &�$��C��� ��������f �
'�ª��$ \��� �$�$��+$ 

�� ���� �6 	�£��$ ���! ���� &�$��C��� 

��������f$ M�^���
 	P��� +�। 


��
� ���� ��
��, ��-��
�� � 
���
�� 

��� �
!��  

����� E���$ 'i�
 �$���� �$�$ S_ �������� ?������ 

*��y���$ &���&��� SAARC, BIMSTEC, SASEC 

3�� BBIN 3$ ��� HI��� �+�1��/��$ S_ ��S 

�$�#। ��������, *
&��, z0�
 � 5�$� SASEC 3�� 

BBIN 3$ ����� HI��� �+�1��/��$ S_ 3���� 

��S �$�#। ����zx *��y���$ ��� �+�1��/��$ ?�b�� 

	T�+� $���#। 

5�$� *
�� ����� H����
 

����� E��� �������� 3�� 5�$��$ ��� HI��� 

�+�1��/��$ S_ 3�4 S��p �J���$� ���4 ��S �$�#। 

5�$��$ �+$�Y$ +�� ���������$ *58���$� 3�� 5�$��$ 

�WY$� +�� ���������$ «���� &1 �: �4 H:}����� �Mm 

���1�/ %��&� +���#। �+$�Y$ +�� *58���$�� ��� 

*��5 �I��
 ��L�
$ ����� ������
 �,��� *�/����0 

3�� �WY$� +�� «����� �<� *�/����0 ����� H����
 

�$� +�h। 3#�8� 5�$��$ ��8E��$ ����-�5�]� H���
 

����� *�f *
�� �,<�� *�/����0 (�
0 �,�.< *�/����0) 

����� H����
 �$� +�h।  

*
&�� *
�� ����� H����
 

*
&�� *
�� ����� H����
$ '�G�/ *
�� +���#। *
&�� 

*
�� 6�� *�/����0 ����� H����
$ S_ 5�$��$ GMR 

Group 3�� NTPC Vidyut Vyapar Nigam Ltd 

(NVVN)-3$ ��� 3�4 ������� ��$� ¨���$� 

+���#। 3$ &���&���, 5�$��$ ¬E­ T�+�$ ��$ *
&�� 

*
�� H$� �� *�/����0 ����� H����
 �$� +��।  

¬0�
 *
�� ����� H����
 

z0�
 *
�� S������ H����
$ '�G�/ M+C �$� +���#। 

3 ���� �L *���$ ��� 3�4 ������� ¨�$� ¨���$� 

+���#। 

�����0� *��-	&��$�
 

�����0��$ ����� HI��� �+�1��/��$ '�G�/ *
�� 

+���#। 3 ����� 3�4 ������� ��$� (MoU) ¨���$� 

+���#।  
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*��, 2�� � ?�R��� �`� E�� 

?�R��� 2�� �^� 

?�R��� 2�� *���$ 3�4 y��UC �  ����
 �`�, 1� 

*���$ *��0 ���C�S��  ����
 T�+��$$ ���$� ?�� 6� 

5�/ U$C ��$। 3 1��� *���$ H��V� *��0 2�� *��W$ 

��N� �.4। *&�[������ ���� �� ���� ?�®�
 	P1��� 

*��0 2�� �^��$ (GIIP) &�$��C !,.�� �[���
 A
\0 

3�� '�]��
�1�2 ?���C� 3�� ���T (2P) �^��$ 

&�$��C �..=� �[���
 A
\0। �.<� ��� +�� ¤� ��$  

^
 ���� &1 �: X�Y�Z� 2�� '�&���
$ &�$��C ?�� 

��.�, �[���
 A
\0 3�� '�]��
�1�2 	���� �^��$ 

&�$��C ,.<< �[���
 A
\0। ��$�C ��.. 3 *��� 2�� 

�^��$ &�$��C *�E��
� +���: 

��$�C ��..: *��� 2�� �^��$ &�$��C 
                                                                                                                                                                                            (�����
 A
\0) 

2����W '�&��
$� ¯& ��N� 

?�
��� 
*��0 �^� 

?���C� � ���T 2���$ �^� ����-�!   
	
 ��#�$ 
'�&��
 

X�Y�Z� 
'�&��
 
�m��¥$ 

���! &1 �: 

	���� 2���$ 
�^� ^��L 

���� ( GIIP ) 1P 2P 3P 

�. '�&��
$�         

���� 23 9614.0 7040.3 7342.1 7916.7 140.41 5427.90 1914.20 

�
�!% 7 3981.0 2787.0 2787.0 3096.0 44.00 2758.66 28.34 

���'���( 6 1491.7 1084.4 1145.3 1147.6 11.43 898.32 246.98 

)���*+�� 2 1235.0 - 988.0 - 10.26 773.60 214.40 

'
*(,' 7 1853.0 - 1482.4 - 19.01 718.55 763.85 


���-/ �
',' 3 625.7 - 500.6 - 2.00 224.85 275.71 

/012� 1 122.1 101.0 101.0 122.0 1.29 83.26 17.74 

2'
�3(4 2 405.0 - 345.0 - 9.00 253.23 91.77 


�5�24��6�' 2 235.2 166.4 167.0 172.9 5.52 122.04 44.98 

/78!% 2 348.1 153.5 243.7 369.4 4.04 178.08 65.62 

���(�2(4 3 141.2 68.2 98.8 106.0 1.12 98.22 0.59 

*�9 ��6,' 5 1225.4 500.4 857.7 1035.7 26.93 169.70 688.04 

/�:��3 1 220.0 102.0 145.0 201.0 0.34 14.64 130.36 

;<�,' 1 66.7 18.8 46.7 46.7 1.82 26.21 20.46 

=��>� 4 435.9 - 305.1 305.1 10.98 149.77 155.35 

/�!0!% 1 67.1 6.9 42.0 42.0 2.90 15.62 26.42 

6�������(* 4 2788.6 - 2454.0 - 58.68 1656.42 797.58 

/0@�A4��6�' 5 630.0 - 378.0 - 5.90 353.19 24.81 


�
�5�2�* 26 8662.0 6064.4 7666.3 8125.1 377.46 5999.07 1667.20 

��B'� 5 874.0 634.0 708.0 777.0 15.23 562.12 145.88 

��-/0�- �: 110 35021.5 18727.3 27803.7 23463.2 748.30 20483.46 7320.26 
E. '�&���
 1���
: 

«°����� - 65.0 45.5 45.5 45.5  0.0 0.0 45.50 

*5��� 

 � - 621.9 75.5 435.3 435.3 - - 435.3 

S��!% - 75.0 - 52.50 75.0 - - 53.13 

L���� - 200.0 - 140.00 200.0 - - 140.00 

��-/0�- �:   961.9 121.0 673.3 755.8 0.0 0.0 673.95 

/. '�&��
 %�/�: 
D�!% - 24.6 9.7 17.2 17.2 0.00 0.68 16.55 

E��� - 1039.0 265.0 474.0 727.0 0.0 26.46 447.54 

��0�� - 79.1 21.1 66.0 67.6 0.0 21.1 44.94 

/724 - 185.2 125.0 125.0 175.0 0.0 62.4 62.60 

��B - 899.6 544.4 577.8 638.7 0.0 487.91 89.85 

��-/0�- !:  2227.5 965.2 1260.0 1608.3 0.0 598.5 661.5 

�� F�0�- (
�
�H7) 
�+�+!  

38210.9 19813.4 29737.08 25827.3 
748.30 

 21082.01 8655.70 

�� F�0�- (+
�H7)   38.21 19.81 29.74 25.83 0.75 21.08 8.66 
'��:  ����
 � E�
S �`� ��5�/। 
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?�R��� 2���$ E������$ T�+�$  

����� '�&��
, ��$ ��$E�
�, 1�
��+
, ��O, ±+%��� � 

���C�S�� E��� ?�R��� 2�� T�t� +�। ����-�! 

	
 ��#�$ H����
R� H$3�3
�S�+ 2�� �$�$��+$ 

&�$��C *��0 ?�� �,���.< �����
 A
\0 3�� 2�� 

T�+��$$ &�$��C .!�.�� �����
 A
\0। ���!-�� 

	
 ��#�$$ ��b � &1 �: H����
R� H$3�3
�S�+ 2�� 

�$�$��+$ &�$��C *��0 ?�� =��.< �����
 A
\0 3�� 

2�� T�+��$$ &�$��C <,�.= �����
 A
\0। ��$�C 

��.�� 3�� *�E�bW ��., � ��.. 3 E������$ ?�R��� 

2���$ T�+�$ ��X�: �² '&%�&
 �$� +���: 

��$�C ��.��: ?�R��� 2���$ '�&��
 � E������$ T�+�$ 
                                                                                                                                                                                      (�����
 A
\0) 

�#$ '�&��
 

T�+�$ 

����� ���&45 ��$��$E�
� ��O b�-��/�
 ���C�S�� ±+%��� ��3
�S *��0 

���=-�, 968.7 398.6 160.5 43.0 166.6 0.9 8.2 158.0 46.2 982.0 

���,-�. 1077.7 450.9 157.5 57.7 164.5 1.0 7.9 158.9 43.4 1041.8 

���.-�� 1085.6 455.9 151.6 54.6 155.7 1.1 6.7 132.7 36.1 994.4 

����-�� 1104.1 425.8 169.1 64.7 181.7 0.9 6.0 134.2 35.1 1017.5 

����-�� 1080.4 402.0 175.7 60.4 191.0 1.1 6.0 127.8 37.3 1001.3 

����-�! 1002.6 389.4 164.2 50.1 178.8 1 5.8 100.6 42.3 931.21 

���!-��* 742.6 281.4 117.1 42.5 129.7 0.9 4.0 75.5 33.6 684.7 
   '��:  ����
 � E�
S �`� ��5�/। * ��b �, ���� &1 �: 
 

*�E�bW ��.,: ?�R��� 2���$ E������$ T�+�$ 

(����-�! 	
 ��#$) 
*�E�bW ��..: ?�R��� 2���$ E������$ T�+�$ 

(���!-�� 	
 ��#$*) 

  
'��:  ����
 � E�
S �`� ��5�/।* ��b � ���� &1 �:।

?�R��� 2���$ b��+��$  ?��&C 

*��� X��a ���
 ��O���
$ *?���� ������$ b��+��$ ���
 

���
 ?�R��� 2���$ b��+��� (�) &��h। *&�[������ � 

3$ H���a�
 *��`��
���+$ �� �������$ ����� /³� 

���4 ���� ^
,���� 3 ?C�� ?�����
 	P1��� 

(Scenario 2) ����-�6 	
 ��#�$ 2���$ b��+�� !,.<6 

3�3���3s�m (million cubic feet per day), ���6-�< 

	
 ��#�$ 2���$ b��+�� �,�=< 3�3���3s�m, ���<-�= 

	
 ��#�$ 2���$ b��+�� �,6!6 3�3���3s�m 3�� ���=-

�, 	
 ��#�$ 2���$ b��+�� �,=<� 3�3���3s�m-3 'i�� 

+�� &��$। ����-�6 	
 ��#�$ *1E��
 ���O 2���$ b��+�� 

.=< 3�3���3s�m �
a ��$C �$� +���#, *�E��
 ���=-�, 

	
 ��#�$ �,!.. 3�3���3s�m�� 'i�� �$�$ �����W� 

�
a ��$C �$� +���#। 3#�8�, ���C�S�� � b� E��� 2���$ 

b��+�� ����-�6 	
 ��#�$ �, 3�3���3s�m �
a ���$� 

+���#, 1� ���=-�, 	
 ��#$ &1 �: 	&�$����� 
���� 

&��$। ��$�C ��.�� 3 ?�R��� 2���$ b��+��$ ?��&C 

��X�: �² '&%�&
 �$� +���}

����� 
��.��%

��3
�S 
�.��%

±+%��� 
��.��%

���CS�� 
�.��%b�-��/�
 

�.��%

��O 
�..��%

��$��$E�
� 
6.��%

���&45 
&����$ 
�,.��%

����� 
��.��%

��3
�S 
6.��%

±+%��� 
��.��%

���CS�� 
�.,=%

b�-��/�
 
�.�!%

��O 
�..��%

��$��$E�
� 
<.��%

���&45 
&����$ 
�=.��%
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��$�C ��.��: E������$ ?�R��� 2���$ b��+��$ �����W� 
                                                                                                                                        (3�3���3s�m)                                         

E����+ ����-�6 ���6-�< ���<-�= ���=-�, 
����� 1454 1513 1601 1673 

���&45 &����$ 731 762 798 825 

��$ ��$E�
� 286 286 366 366 

��O 976 1103 1267 1399 

±+%��� 359 353 344 340 

���C�S�� 3�� b� 28 28 28 28 

��3
�S 131 131 131 131 

*��0 3965 4176 4535 4762 
  '��:  ����
 � E�
S �`� ��5�/। 
 

�$��R� ?�R��� 2�� (3�3
�S) 

*��� X��a ���
  ����
 b��+�� U$�C$ S_ �$��$ 

�$��R� ?�R��� 2�� (3�3
�S) H����
$ ?���S
�� 

&���& M+C ��$�#। �$���$$ ��)�: *������� 

�´��S��$$ ��+�E���$ /5�$ �e�µ �L4 5����
 

3�3
�S 0��� �
�� (FSRU) %�&
 �$� +���#। Excelerate 

Energy Bangladesh Limited (EEBL) ���� &�$b���� 

MLNG 0��� �
�� 1�$ 3�3
�S a�$C ���� �,!,,��� 

A
��0�$ 3�� �$2����s���
 ���� 6�� 

3�3�3���3s�m। &$��¶�� S�P���$ ���� ���� 

�$2����s���
 ���� <�� 3�3�3���3s�m-3 'i�� 

�$� +�। 3L 5����
 3�3
�S 0��� �
�� (FSRU) *
�� 

S���� �M�m ���C�S�� �$�$�+ ¤� d� ���, ����$ �. 

H/J *
��। Summit LNG Terminal Co. (Pvt.) Ltd. 

���� &�$b���� 	&$ 3�4 3�3
�S 0��� �
�� SLNG 1�$ 

3�3
�S a�$C ���� �,!,,��� A
��0�$ 3�� 

�$2����s���
 ���� 6�� 3�3�3���3s�m। 3L 

0��� �
�� *
�� S���� �M�m ���C�S�� ��$�+ ¤� d� ���. 

����$ !� 3�?� *
��। 

3�3
�S �$�$�+ 

��A ������� §�x$ H��� ��G��
 3�3
�S H����
 

��1 �X�: 

*���$ �����
 � X��a ���
 2�� b��+�� U$C 3��  ����
 

�
$�&]� �
�c� �$�$ ����, �´��S�$ *S��$ 

��+�E����� %��&� �4 3�3
�S 0��� �
���$ ����� 

H����
R� 3�3
�S �$�$�+ �$� +�h, 1�$ l��
� ���� 

1
�X�� 6�� 3�3���3s 3�� <�� 3�3���3s। ������
 

�4 ��A ������� §�x$ H��� ����$ *
�� �.6 3�4�&3 

3�� ���
 *
�� �.� 3�4�&3 3�3
�S H����
 �$� +�h। 
 

·0 �����0 *
�� ��G��
 3�3
�S H����
 ��1 �X�: 
 

·0 �����0 +�� 3�3
�S H����
$ ���� *&�[������ 

�!4 ?�����
$ ���
 Master Sale and Purchase 

Agreement (MSPA) ̈ ��$ ��$�#। 3 ?�X��� ���� ��� 

+�� 3�3
�S H����
 ¤� +���#।  

*&�[������ &¸ 

�������� *&�[������ ��& ���$�
 (���&��) &�$����a� � 

	&�$����a�  ����
 *�� H����
, 	5�:$�C ��M+, �^� 

� ��&C
 ��1 �X� &�$b��
� ��$ 
���। ������
 *���$ 

 ����
 *���$ �^� ���� ?�� �6.=� �� *��[� 0
। 

*���$  ����
 �
$�&]� H�$� �
�c��$C��O &�$����a� 

 ����
 *���$ H����
 �
5�$�� ����� 	&�$����a� 

 ����
 *�� &�$���a
 ���� (�)$ �$�$ ���� LJ�
 � 

�$s�L
�$� �����0m-3$ &�$���a
 ���� H�$� �6 �� 

*��[� 0
 (�)$ S_ “Lk0���
 	� LH$3� L'�
0-�” 

?�O M+C �$� +���#। /5�$ �eµ �¹$ +�� &�$����a� � 

	&�$����a�  ����
 *�� º�, �+S, �
$�&� � �� E$�b 

E�����$ S_ Single Point Mooring (SPM) with Double 

Pipeline ?��O$ ��{���
 ��S ���� +���#। b»M�� +�� 

���� &1 �:  ����
 *�� &�$�+�
$ S_ &�L&��L
 �
� ��C 

?��O$ ��S b��#। '�8�S�+��S$  ����
 *�� &�$�+�
$ 

S_ �&��/Z +�� «�� ��0��� 3�5���
 �m�&�, ���� &1 �: 

*S0 \��� &�L&��L
 �
� ��C �$� +�h। *���$ ']$�I�� 

 ����
 *�� �$�$�+ H�$� º�, ��¼ � �
$��hi �$�$ 

���� �m�S� H����
$ S_ ����y�8 �����4� 0��� �
��, 

5�$� +�� ���������$ &�� ���Y$ �m�&� &1 �: �!�.6= 

�������0�$ &�L&��L
 �
� ��C ��S L������ �`i +���# 

3�� 'x &�L&��L�
$ ����� 3
H$3� 3$  ����y�8 

�����4� 0��� �
��, 5�$� +�� �
���� �m�S� M+C �$� 
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+�h। ��$�C ��.�� � ��.�! 3 ���&�� ���� ���=-�, 

	
 ��#$ +�� ���!-�� 	
 ��#$ &1 �: 1
�X�� 

	&�$����a� *&�[������ &¸ H����
 3�� &�$����a� 

*&�[������ &¸ H����
$ �² *���� +���: 

 

��$�C ��.��: 	&�$����a� *&�[������ &¸ H����
 

	
 ��#$ &�$��C (���[� 0
) 3s��� ��/�����
 �����
 m��$ *��4 0��� 

���=-�, 1173647 565.99 4603.81 

���,-�. 1361877 721.28 6080.39 

���.-�� 1151963 455.91 3854.64 

����-�� 1434613 584.64 4966.52 

����-�� 1366085 896.84 7855.92 

����-�! 1550761 1044.59 10968.29 

���!-�� 1307668 836.74 9385.63 

'��:  ����
 � E�
S �`� ��5�/ 

��$�C ��.�!: &�$����a� *&�[������ &¸ H����
 

	
 ��#$ 

*S�&, *��$���
, 	��0
 � �m�S� ��½��4� 	��� s��
 �� 	��� *��$
 \��� 

&�$��C 

(��. 0
) 

��3sH$ �� 

(���4 0���) 

&�$��C 

(��. 0
) 

��3sH$ 

�� 

(���4 0���) 

&�$��C 

(��. 0
) 

��3sH$ 

�� 

(���4 0���) 

 

&�$��C 

(��. 0
) 

��3sH$        

�� 

(���4 0���) 

���=-�, 4892089 23300.67 - - 650540 2091.52 - - 

���,-�. 4281958 23185.74 - - 318634 1282.49 - - 

���.-�� 3865132 17045.81 - - 175694 687.04 - - 

����-�� 4192686 16845.81 - - 29964 111.24 - - 

����-�� 4809132 38276.98 - - 316086 1710.86 16506 101.06 

����-�! 4849851 48795.87 - - 435592 2146.07 30068 222.38 

���!-�� 4388063 42067.74 - - 660857 4102.61 14986 107.27 

   '��:  ����
 � E�
S �`� ��5�/ 

 ����
 *�� ���� 5°��� 

�������� *&�[������ ��& ���$�
 (���&��) *���$ b��+�� 

	P1��� ?�� �#$L 	&�$����a� � &�$����a�  ����
 

*�� H����
 ��$ 
���। 	&�$����a� � &�$����a� 

 ����
 *���$ H:S����� ��M+ �� '|�
��� ��$ 
���। 

H:S����� ��S��$  ����
 *���$ �� (�) *&��� ��A ���
 

a�$ ���Z¾UC �5��� *���$ 	5�:$�C ��S��$ *���$ ��X� 

���+ ¤¿+�$ Y
}�
a ���$� 
� +���� ���&�� X��/� 

*������
$ �À¼E�
 +�। s��  ����
 *�� H����
 ���� 

�$��$�� '��E�1�2 	���$ 5°��� ���� +�। ��� 


�5¥$ ���� +�� H:S����� ��S��$ *���$ �� K�� 

&����� ���6-�< 	
 ��#$ *
�� ���!-�� 	
 ��#$ &1 �: 

�$��$��  ����
 *��� *��
 5°��� ���� +��
। ��� 

����-�� 	
 ��#�$ L'�X
-$����� ��)$ s�� Á� l��Â� 

&�$�%��$ ��$�C H:S����� ��S��$  ����
 *���$ �� 

(�) &����� ���&�� �,=�6.<� *��4 0��� *�����
 *��। 

��$�C ��.�� 3 �$��$ ����  ���&��-*� ?�] 5°���$ 

&�$��C *�E��
� +���: 

��$�C ��.��: �$��$ ���� ���&��-*� ?�] 5°���$ 

&�$��C 

	
 ��#$ 
�$���$ 5°���$ &�$��C 

(���4 0����) 

����-�� 4000.00 

����-�� 8550.00 

����-�! 13558.00 

���!-�� 2478.00 

����-�6 600.00 
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 ��#$ 
�$���$ 5°���$ &�$��C 

(���4 0����) 

���6-�< 0.00 

���<-�= 0.00 

���=-�, 0.00 

���,-�. 0.00 

���.-�� 0.00 

����-�� 0.00 

����-�� 0.00 

����-�! 0.00 

���!-�� 0.00 

'��:  ����
 � E�
S �`� ��5�/।  
 

E�
S �`�  

E�
S �`� 'i�
 Ã��$� (��3��m) ��$� *��� ?�� E�
S 

�`� (��� � 2�� T���) 3$ 	P���
 ��L��k, E�
 

LS�$� � *�����$ LS�$� ?��
 3�� 3y���$ ���� �� 

T�%�&
�$ ����� &��
 ��$ 
���। ��3��m *1 ��� 

E�
S &���
 �$ 	P���
 ��L��k, E�
 LS�$� � *�����$ 

LS�$� ?��
 ��$ ��$ ��� '��E�1�2 +��� ����, �³
 

����, �&0, E�
S ���, a��� E�
S, ������4, ���������, 

��a�$C &�
$/��� ���Ä� &�
$, §
�&�
$, *�F+ H��$� � 

*ª/*��।  

����   

E�
S �`� 'i�
 Ã��$� ���� �������� l��, 2�� � 

E�
S �`� �$�&��$�
 (*&�[������)-3$ 	a�
 

�8Y«�$�� *��� ��L�
� *��`��
 ��. (����3���3�)-3$ 

	P¯�� ���� '�]���
$ �
��] E�
 LS�$� �Å�$ ?��
 

�$� +�। ����-�� 	
 ��#$ +�� ���!-�� 	
 ��#$ &1 �: 

'�]���� ����$ &�$��C �.�< *��4 *��[� 0
 3�� $�S¨ 

H����$ &�$��C =.�.�! *��4 0���।  

�³
 ���� 

�³
 ����$ *��0 �^��$ &�$��C �=� �����
 0
 1�$ 

��� ��� �����
 0
 '�]��
�1�2। E�
S �`� 'i�
 

Ã��$� ���� ��
�SY$ *S��$ &�� ���Y$ 3�� 
���/Z 

'&�S��� 6,��� *+£$ 3���� +�� �³
 ���� '�]���
$ 

S_ �..� ���� E�
 LS�$� ?��
 �$� +�। ���= ��� 

*
�� ���C�S�� '�&��
 ¤� +�, 1� 	T�+� $���#। 

����-�� 	
 ��#$ +�� ���!-�� &1 �: '�]���� �³
 

����$ &�$��C .�.<! �� *��[� 0
 3�� $�S¨ 

H����$ &�$��C <!.�. *��4 0���। 

��a�$C &�
$/��� ���Ä� &�
$ 

������
 */�S0¬x &�
$ *�����$$ ��N� 6�4। ��a�$C 

&�
$/��� ���Ä� &�
$ */�S0zx +���$ &$ ���6 ��� 

+�� ���! ��� &1 �: ��64 *�����$ LS�$� ?��
 �$� 

+���#। 
 

������ ��� 

������
 */�S0¬x ��������� *�����$$ ��N� =,4। 

���������  */�S0zx +���$ &$ ���6 ��� +�� ���! 

��� &1 �: *��0 ,=4 *�����$ LS�$� ?��
 �$� +���#। 

E�
S �`� (��� � 2�� T���) 	P���
, H��Æ�$ � 

����
 

�������� ¬���Ç� S�$& 	�a��$ (�S3���) �����, 

 ����
 � E�
S �`� �oC����$ 	a��
 *��� *�� � 2�� 

T��� E�
S �`� 	P���
, H��Æ�$, ����
 3�� ¬-

�Ç ����� /���C� &�$b��
�$ �����?�� �$���$ 

?����
। *��� E�
S �`� 	P���
 � �����
$ ��S 

*S�$��$ �$�$ ���� �������� ¬���Ç� S�$& 	�a��$ 

(�S3���) ���5i 'i�
 ?�O ��{���
 �$�#। s�� 3 

	�a���$$ ���5i ?��O$ H���� ������ ?���C�+ 3 

����� �� S
��x /�8 *���� +�h 3�� /���C� ���S$ 

&1 ��� ���a����+ 	PS���È, ������G� � ��C���G�, 

l��É��� $���
, ?��F�� ¬���Ç�, ¬-&���
 ��, Ê$ 

	Pa��
 � �SHL3�, &�� � ����-��C� ����� 

/���C�/�$���+$ S_ HË�
� 1o&��� ��M+ �$� +�h। 

3#�8�, �������� ¬���Ç� S�$& 	�a���$$ ?�b��� 

*���$ ���5i %��
 �&0, ����, �7b����, ������4, 

�
� ��C����, P�8&�
$, 5�$� E�
S�+ 	_�_ E�
S��+ 

H��V� +���#। �S3��� ���� H��V� ���� � �&0 

������
 ����� '�&��
 3�� ±+%���$ ���S T�t� +�h। 

�S3���’$ ������ 	S�
 

 �������� ¬���Ç� S�$& 	�a��$ (�S3���) 

*���$ E�
S �`��$ 	P���
 � ����
 

��1 �X��� H$� 'i� �$�$ ���� ���5i 'i�
 

?�O M+C ��$�#।“���������$ 
�����$ 

������ ����
 E�
�S$ '&�%�� �
C �� � 

	
 ��
��� ����
” ��� �� ?��O$ ����� 
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½ÍY$, *�A
�, *����Â$� 
��$ 	����+�� *
�� 

���5i ����$ 
e
� ��M+ 3�� ���É�C ��$ 

�S$�
, *��
�SL0, L���
�L0, �0�L�, 

�����´
, ����
�L0, /�$�
0, Î�/�
0�L0 

L����� ����
 E�
S �b�Ï� �$� +���#। 3�� 

5�$� E�
�S$ /8 &�$��
 ���$� ,..� 5�/, 1� 

H:S�����5��� M+C�1�2। 3#�8�, ��$���, 

Ð�
� ��4 ��& ���$�
, «���� � s�$�Y$ �+$ 

3����� “�S�-L
s$���
 s$ H$��
 ���
� 

3� 3�m�&�0�
 Ñ ª�L��0 *bZ, �������� 

(�SL�L'�&3��)” ��� �� ���$/$� �+���� 

?��O$ ����� �4 ?�O 3����� 3 &1 �: !�� 

�/ ��������0�$ 3���� ^�mÒ "���Ô� M�'� 

�L�0����4 Î��&�" ?���, ISEG �m�S0�� 

m�0�����$ +��
�/�� 3�� ?�O 3����$ ¬-

HR��$ ��
�bW l��$ L����� ��S ��{���
 

��$�#।। 3#�8��, 3L ?��O$ 	a��
 BGR 

S�� ���
 ���� �m�S0�� *0�$L
 ��m� (DTM), 


�� b���
��$ &�$���
 ���É�C, ���0�$��m Î�& 

3�� ��� L'S Î�& ?��� �$� +���#। 

��
�SY$ *S��$ +����Y$ '&�S��a�
 H��+�0 

L'�
��
 ¬Õ��$ ��<-6�, ��0�$ /5��$ ?�� 6� 

��0�$ U���$ *�F+ H��$� �Ö) *bF¥� ����$ 

?��� �
�c� �$� +���#। ?�
��� &1 ������C 

HP���
� 6.� �/ � �������0�$ 3���� ^�8 *�F+ 

H��$��$ ���T �^� &���� */�#। 

 �S3��� *�F�5���S�$ � �����0$ +������ 

+��$, */�&��/�Z$ ���A��b��, �
��/�Z$ ��$�L 

� ����, ½�×C���8��$ ��S�
/$ 3�� Ð�
�$ 

�����FS�� ';���
$ �&0 H��Æ�$ ��$�#, 1�$ 

�^� ?�� <�� �����
 0
। �S3��� 
�/7 *S��$ 

����/�#� '&�S��$ �������8� L'�
��
$ 

	:/ �� ��SY$ 3����� <=6 ��0�$ /5�$��� !� 

��0�$ Y� � 5/��
Y$ 3����� �. ��0�$ Y� 

§
�&�
$ H��Æ�$ ��$�#। 3#�8��, �S3���’$ 

?�b��� *���$ ���5i 	I�� ����, Ø�� ¾��, 

��4, �
� ��C ����, P�8&�
$ 3�� 5�$� E�
S�+ 

	_�_ ����
 E�
S �`� H��V� +���#। 

���,-�. 	
 ��#$ *
�� ���!-�� 	
 ��#$ &1 �: 

�S3��� *��0 �!,!�� �/ ��������0�$ ¬���Ç� 

��
�bW��
 �`i ��$�#। 

��>�K���� F2 >�
2- 

 ����
 � E�
S �`� ��5��/$ ���$/�$ �+��� ��x 

�+���� +�L������ �
 L'�
0 b��+��P1��� �������� S���� 

���� 
��� �+ ���5i 
�������, MoU, SDG’s Action 

Plan ?C�
, 2�� b��+��, 2�� *�W 'i�
, 2�� *�£�$$ 

5��v� &�$�O
�, �&3���’$ *SH$��/�S3���’$ �5�� 

&1 ����� �+���� 	��M+C, '�&��
 �p
 � 	_�_ §�x$ 

�Ç��a�
 � &�$���C, *&�[������ *��a
 3�� ��&C
 

T�%�&
�, E�
 3�� E�
S �`� 'i�
 � 	_�_ ���É� 

����� 
������� ?C��
 ��X� 	��M+C � ����� ?��
 

��$ H��#।  

���Ù�$�  �
�oC � �
$�&]� T�%�&
� 

���Ù�$� &�$��$ ���Ù�$�, 2��, *&�[�������+ 

? �
�� �$� &��
 �, ? �
�� �³
 &��
 �, S�$� &��
 � 

L����� ��&Ú
� &���
 �$ '�&��
, H����
, �^�, 

&�$�+
/�I��
 � T�+��$ S
S��
 � S���� �`��$ 

�
$�&]� �
�c� �$� 3�� ���Ù�$� µT HL
, º� ��b�$ 

[�LÃ�
�� 3$ H���� ����$R� ������ H���� &$��C, 

����� ?��
 3�� ��Û ���+
��� �����Ü *��� ?��
 ��$ 


���। 

 ����
 E��� *$y��0�$ � ���� (�) ��1 �X� 

3
��S� E��� *5�x�$ 	�a��$ ��$�C, ?���1��/����� 

��S�$ Á��, Ý��$s �
a ��$�C ¨h�� H
�
 � *��$���$ 

���
����/$ 	P¯� &�$��� Á�� ��� ��&�$ 3 E��� ̈ h�� � 

S������+�� ?���� �������� 3
��S� *$y��0�$ �����
$ 

	_�� '�Þß। 3#�8��, BERC ¤¿ �
a ��$�C ¨h�� 

�
�c� �$�, *5�x���$ ¨�
 � ��$�C �$� 3�� 

?���1��/����� ��S�$ Á�� �$�$ S_ ��S ��$ 1��h। 

�������� 3
��S� *$y��0�$ ����
 3$ ����4 ��1 �X� 

�
�b *��� +���: 

Ý��$s �
a ��$C 

�������� 3
��S� *$y��0�$ ����
 HL
 � ?��a�
���� 

	P�$�C ?�� ?{�� � /C¤
��
$ ����� ������$ &�L���$ 
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(��¿) ��+�$, ����� �I��
 ��+�$ (dL��� b�S�) 3�� 

����� ���$�C$ Ðb$� ��+�$ 3�� 2�� �I��
 ��+�$ 

(b�S�), 2�� ���$C ��+�$ (b�S�) � *5�x�&1 ���� 2���$ 

��+�$ �
a ��$C ��$। ����
 ���� H����� ����� 

T�+�$��$�/�
n��] S
�/����� ¨O ��� ����� 

�$�$��+$ ���� ��Ls-��L
 (�-6� L'�
0) Ý��$s 

�
a ��$C �$� +���#। ��a�$C M�+��$ �
� ����b
� ��$ 

������$ � 2���$ à�
�� ��� ?���+�$ �$� +���#। *��� 

l������ 1�
��+�
 T�0��$ b��S�� �+�S�$�C$ �
��] 

T�0��$$ b��S�� *J��
$ S_ 3�� �����$ *�b/R�����S 

T�t� &��`$ ¨O��+��$ ����� �$�$�+ ?���$ ���� 

��Ä�� �&�$ 	s-�&� ��+�$ ?���
 �$� +���#। �+���_ 

+�L *��0 � �m�5�
 3$ H��� 	P1��� *5�x� &1 ���� 

�$��R� *&�[������ 2�� (LPG)-3$ ��� ����� �5�]�� 

���� �$� +�h। 

2�� 'i�
 �+��� 

*��� 
°
 2�� *�W H��Æ��$$ ���� ���. ����$ !� 

^��L S�$�R� ����
 H����$ ����� *�� � 2�� 

	P���
, '�]��
 � '�&���
$ �
��] *���� 

*��`�
����+$ 	P¯�� 	
 ����
$ S_ 2�� 'i�
 �+��� 

/|
 �$� +�। 'x �+���� ^
 ���� &1 �: ��±+�� 	�
 �$ 

&�$��C �<,,�,.6! *��4 0���। 

����� E�� 'i�
 �+���: ����� E�� 'i��
 ���O 	
 ���
 

����� '�&��
 ���� � ���� (�)$ S_ &�L���$ (��¿) 

&1 ���� ����� 3$ ��G��
 /8 ��+��$$ 6.�= ����� 

&�$��C 	
 � ��$� �������� 3
��S� *$y��0�$ ����
 � 

*sá���$ ���� ���$�E ‘����� E�� 'i�
 �+���’ /|
 

��$। &$��¶�� �����
$ �! 
�5¥$ ���= ���$�E$ 

H����$ ����� 'x s���$ S��$ +�$ � �m��¥$ ���= 

+�� ?�� ��������0 AB� ����� ��X��$ ��&$��� �.�6 

0��� Y
}�
a ��$C �$� +�। 'x s��� ��±+�� 	�
 �$ 

&�$��C S�P���$ ���� &1 �: �6,!,6.�, *��4 0���।  

 ����
 �
$�&]� �+���}  ����
 �
$�&]� ��x���� �$�$ 

S_ ÁS
��� 	
 ���
 

���������  ����
 �
$�&]� �
�c� �$�$ ���� ����
 � 

*��ã¥$ ���6 ���� 2���$ ¤¿ ?�� A
��0��$ �.�� 0��� 

(�) ��$ ‘ ����
 �
$�&]� �+���’ /|
 ��$। 'x �+���� 

�m��¥$ ���! &1 �: �6,�=6 *��4 0��� ��±+�� +���#। 

L������, � 3�?� ���, ���� ‘ ����
 �
$�&]� �+��� 

�
�� ����� ���,’ ?C�
 �$� +���#। 

��L��k ?��
 (������� ��L��k) 

����
 ���� ����-�� 	
 ��#$ +�� ���!-���� 	
 ��#$ 

&1 �: ����� E��� ���5i ���0�/�$�� !,�=.4 ��L��k 

?��
 �$� +���#। 

��L��k ?��
 (2�� � *&�[������ ��L��k) 

����
 ���� ����-�� 	
 ��#$ +�� ���!-���� 	
 ��#$ 

&1 �: 2�� E��� <��4 � *&�[������ E��� ���5i 

���0�/�$�� �,�6�4 ��L��k ?��
 �$� +���#। 

������ ��1 �X� 

�����
$ H���� ��L��k�/�C$ ��� ����� ��L��k� � 

*5�x�/�C$ ��� *��
 ���$�a Á�� +�� �� �
ä�]$ 

?���S
�� T�%� M+C ��$ 
��� ����
। 3E
 &1 �: 

����
 <��4 ���$�a �
ä�]$ H����
$ ��� 6��4 

���$�a �
ä�] ��$�#।  

¨h�� � S������+�� H
�
 

L'4��4 ��%�/���`�
����+$ ¨h�� � S������+�� 

H
��
$ ��� 3�L ��
��� H�
 �� �+��� ���$C� ?w��$ 

S_ Uniform System of Accounts ?����
$ '�G�/ 

M+C �$� +���#। 3$L a�$����+���� 2�� E���$ ��� 

��L���k$ S_ 	�5i �+��� &)�� �
a ��$CU� �� ?��4 

H�
 �� *�
��
 �+���zx�$C, %��� �`� � L
�5p$� 

T�%�&
� /�Lm��Lk ?��&���
$ �
��] �� ^��L ���, 

*
�� ��1 ��$ �$� +���#। ����
 ����� E��� 	�5i �+��� 

&)�� ?C��
$ ���� ����� ��%�/���`��
��+ +�� ?�� 

�smT�� &1 �����b
�U� �� ��� ����� ���$C 

��%�/���`��
�� �� ��{����
$ S_ 	�5i �+��� &)��$ 

?���S
�� &�$�a �
 3�� &�$��S��
$ ��1 �X� M+C ��$�#। 

3#�8�, ��`'0�$�LSm/���� *�LSm �s0�����$$ 

����� ��� 2�� *��`��
���+ 	�5i �+��� &)�� b�� 

�$�$ ���� &$��� �� ?����
 �
����/$ �
��] ��1 ����� 

?���
$ ��1 �X� b���
 $���#। 

*5�x�$ ¨�
 � ��$�C 

3
��S� E��� *5�x�$ ¨�
 � ��$��C$ S_ ����
 �
���� 

��S ��$ 1��h। ����
 ���� �
���� H'0�$b *?�M��, 
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'å¼x �5� � /C¤
��
$ ����� ¨h � *1F�x� Ý��$s 

�
a ��$C, M�+� +�$��
 *$�a, ��0�$ �$�m� ��+¬ �� ��� 

?���$�a, �?-�&Lm 3�� L�5�� ��0�$ %�&
, *����L� 

����� &)��, 	
��L
 M�+� *���, ���� �� ��� &�$���a 

?���
&W b���+ 
�
�a$�C$ *$y��0�$ ��1 �X��$ ����� 

����
 *5�x�$ 	�a��$ ��$��C ��S �$�#। 

3
��S� 	�m0 ��X�: ��1 �X� 

3
��S� 	�m�0$ �����  ����
 T�+��$$ �³� �bW ��M+, 

	&b� *$�a 3�� 1o&��� � �$Z�����$ ��
 �
�&
 �$�$ 

S_ ?�1�S� *��W UC� ���
 � $�
����C 3�� �� ?��x 

?����/$ �����  ����
 �
� 2�� T�+��$$ ���� (�) 

�
�c� �$� ���। 3 ���� ����
 3
��S� 	�m0 ��X�: 

��1 �X� &�$b��
�$ S_ &�$�O
� M+C ��$�#। �������� 

����� 'i�
 *��m � 3$ ��
4 �������f  L������ 

��LH$�� ?�] #�� 3
��S� 	�m0 ��X�: �²���� ��M+ 

��$�#। 

L-��L���k� ��1 �X� 

 ����
 E��� ���5i ���0�/�$�� ��L��k ?��
 ��1 �X��� 

*��� M+�����$ ���# �+S�5� 3�� º� �$�$ ���� 

	
��L
 L-��L���k� ���J� �s0����$ l��$ 3�� 

���É� �� �����/�� �b�$���$ ?���C ?��
 �$� +���#। � 

	�£��$ ���. ���$E +��  ����
 E���$ ���5i ���0�/�$$ 

��L��k H���
 � ?��
 ��1 �X� L-��L���k� 3$ ����� 

�`i +�h। 3�� *��� M+�����$ ��L��k ?����� ��� � 

E$b ���#। s�� *��� ?�
¶$� ������ � +�$��
ex5��� 

*��� M+C �$�� &�$�#
।

 

 

 

 

 


